

LWENY

Versend vanaf/Sent from: Paarl (Cellars) Posbus / P.O. Box 528 Paarl 7646	Versend na/Send to: Liquor Runner Durban CLAIRWOOD LOGISTICS PARK UNIT 3A CLAIRWOOD	 PROUD PIONEERS AFSKRIF / COPY	Warsay Investments Pty Ltd t/a Posbus / P.O. Box 528 Suiders Paarl 7624 Tel: (021)8073900 Faks/Fax: (021)8073000	Boekings / Document Nr: 80352767 Aankoopbest / Purchase Ord: 4500561720 Klient Best No / Cust Ord Nr: KWV Best No / Order Nr: Dok Datum / Doc Date: 14.04.2025
Vragmotor / Truck: Registrasie No / Registration Nr:			Bladsy / Page: 1	

Item	Material Description	Hoofhoeftid	Quantity	Eruo Gewig	Netto Gewig	Volume m ³	Stortmaat Liters	Liter/AA
000001	700025733 (B) KWV 3YR BRANDY 12X750(S)3 LOC Batch Number : L25097/2		550.000 BOX	8.305 KG	4.950 KG	15.400	0.000	0.000
000002	700026862 (B) CIAO PINA COLADA (1X2L + TRAY) BIB LOC Batch Number : L25065		140.000 BOX	1.820 KG	1.666 KG	2.800	0.000	0.000
000003	700025953 (B) KWV SPARK CUVEE BRUT(6) 6X750 SLOC Batch Number : L25077		66.000 BOX	669.240 KG	291.654 KG	1.056	0.000	0.000
000004	700022639 (B) PONCHOS TEO CARAMEL 6X750(2) LOC Batch Number : L24330		20.000 BOX	178.400 KG	90 KG	0.240	0.000	0.000
000005	700025880 (B) PBAY DRY WHITE 4X300 (2) BIB ALOC Batch Number : 2435130629		10.000 BOX	130 KG	120 KG	0.190	0.000	0.000

17/04/25 Paul King

Name: HOS. NETHI Date: 14/04/25
 Sign: [Signature]
 AFLEMERINGSBEWYS
 GOEDGEKEUR:

Versand vanaf/Sent from: Paarl (Cellars)
 Posbus / P.O. Box 528
 Paarl
 7646

Versend na/Send to: Liquor Runner Durban
 CLAIRWOOD LOGISTICS PARK
 UNIT 3A
 CLAIRWOOD



Warshay Investments Pty Ltd t/a
 Posbus / P.O. Box 528
 Suidler Paarl
 7624
 Tel: (021)8073900
 Faks/Fax: (021)8073000

Document No / Document Nr: 80352767
Aankoopbest / Purchase Ord: 4500561720
Klant Best No / Cust Ord Nr:
KWV Best No / Order Nr:
Dok Datum / Doc Date: 14.04.2025

Vragmotor / Truck:
Registrasie No / Registration Nr:

Bladsy / Page: 2

Item	Material / Beeskr. / Wng	Howveelheid	Quantity	Bruto Gewig	Gross Weight	Netto Gewig	Net Weight	Volume m ³	Volume m ³	Stortmaat Liters	Bulk Litres	Liter AA	Litre AA
000006	700024725 (B) CATH PINO 6X750 2022 SLOC	8.000 BOX	8.000 BOX	65.600 KG	65.600 KG	36 KG	36 KG	0.112	0.112	0.000	0.000	0.000	0.000
	Batch Number : 2332728338												
000007	700022282 (B) KWV 15YR BRANDY 6(1X750) NP LOC	2.000 BOX	2.000 BOX	21.222 KG	21.222 KG	9 KG	9 KG	0.038	0.038	0.000	0.000	0.000	0.000
	Batch Number : L24220												
Total Units				796.000 Units									

CONTAINER INFORMATION:

Packing Carrier Seal No : 3263601-3610 3263561-370 3263581-3590
 Packing Soller Seal No : 3263611-3620 3263571-3580 3263591-3600
 Container Number : JBK 283 FS JBU 147 FS JBU 151 FS
 Additional Information : LIQUOR RUNNERS

Clairwood Logistics Park
 Basil February Road
 Modeni East
 4060



Clairwood Logistics Park

Liquor Runner Clairwood Clairwood

Selwyn@lrta.co.za

Http://www.lrta.co.za

GRV for KVV (PTY) LTD - LRSA NR: 3536 (GRV)

Receiver: Morganathan

Checker: Morganathan

Receive Date: 2025-04-17

Warehouse: Paarl

WarehouseRecv: Clairwood

Sender Ref 1: 4500561720

Sender Ref 2: LR

SKU Code	Stock Description	Bin	Batch Number	QTY(Cases)	QTY(Units)
----------	-------------------	-----	--------------	------------	------------

Stock Received

700020875	CIAO VODCANO (6 X 2L) BIB LOC	L24305		70	420
700022282	KVV 15YEAR BRANDY (6 X 750ML)(NEW) STD	L24220		2	12
700022639	PONCHOS 1910 TEQ CARAMEL (6 X 750ML)	L24430		20	120
700024725	CATHEDRAL CELLAR PINOTAGE (6 X 750ML)	L23327		8	48
700025233	HOOCH BLAST BLACK CURRANT] 4 X 6 X 275ML	L25020		468	11232
700025396	HOOCH BLAST BLACK CURRANT CAN 440ML	L24229Dama		1	24
700025396	HOOCH BLAST BLACK CURRANT CAN 440ML	L24229		269	6456
700025628	CLASSIC CABERNET SAUVIGNON (6 X 750ML)	L25016		140	840
700025631	KVV CLASSIC MERLOT	L25044		140	840
700025733	KVV 3YR BRANDY (12 X 750ML)	L25097		550	6600
700025875	BESP DRY RED	L25072		50	200
700025880	PEARLY BAY DRY WHITE	L24351		10	40
700025945	BUG RED SHOOTER (10 X 15 X 20ML)	L25076		63	630
700025953	CUVEE BRUT	L25077		66	396
700025956	BUG STAG 10 X15 X 20ML	L25069		63	9450
700025997	KVV CLAS CABS SHIR 8 X 2L BIB 20024 LOC	L24337		32	256
700026438	WILD AFRICA CREAM LIQUEUR (12 X 750ML)	L25044		165	1980
700026456	WILD AFRICA CREAM CHOCOLATE (12 X 750ML)	L25078		70	840
700026643	ROOD (6 X 750ML)	L24325		112	672
700026862	CIAO PINA COLADA PROMO 6 X (2L ICE TRAY)	L25065		140	840

Total QTY Received 2,439.00

41,896.00

Checked By: _____

Transport Company: _____

Receiver: JBR283FS

Checker: Nkosinathi

Driver Signature: _____

17/04/2025 01:49:37 PM

Liquor Runners

Durban

GOODS RECEIPT / ISSUE

No 55944

To be completed on receipt of goods from Producers, Truckdrivers or Warehouse

DRIVER NAME NKOSINATHI

HIRE TRANSPORTATION CO. (if delivered by Hire Vehicle)		LOAD SHEET No:
VEHICLE REG No: <u>JBK 283FS</u>		

CUSTOMER <u>KUV</u>	DATE RECEIVED <u>17-04-25</u>
---------------------	-------------------------------

UPLIFTNOTE

DESCRIPTION	RECEIVED	Cases Received	Units Received	REMARKS
1) KUV THREE	✓			L25097
2) 3 YRS BRANDY 750ml 550	✓			
3) HOCH BLAST				
4) B/CURRENT 400ml 269			1	L24229
5) WILD AFRICA				
6) CREAM LIQUEUR				
7) 12X750ml	✓			L25044
8) WILD AFRICA	✓			
9) CHOCOLATE 750ml	✓			L25078
10) HOCH BLAST				
11) B/CURRENT 275ml 468	✓			L25020
12) KUV CARBONET				
13) SAGVIGNON 6X750ml 140	✓			L25016
14) KUV MERLOT				
15) 6X750ml	✓			L25044
16) ROODEBERG				
17) 6X750ml	✓			L24325
18) Bug Shooter				
19) STAG	✓			L25069
20) OTHER				
PALET CONTROL: GKN #1				
TOTAL				

NOTE: ON G.R.V. SHOW ONLY STOCK WHICH HAS PHYSICALLY BEEN RECEIVED

CHECKED ON RECEIPT BY: <u>JOE G MATHI</u>	DRIVER: <u>NKOSINATHI</u>
TIME COMPLETED: <u>12:06</u>	PAGE: <u>01</u>
	PAGE: <u>02</u>

09:10
10:06

Liquor Runners

Durban

GOODS RECEIPT / ISSUE

No 55945

To be completed on receipt of goods from Producers, Truckdrivers or Warehouse

DRIVER NAME NKOSINATHI

HIRE TRANSPORTATION CO. (if delivered by Hire Vehicle)	LOAD SHEET No:	VEHICLE REG No:
		J BK 283 FS

CUSTOMER	DATE RECEIVED
KWV	17-04-25

UPLIFTNOTE

DESCRIPTION	RECEIVED		Cases Damaged	Units Damaged	REMARKS
	Cases	Units			
1) CIAO VODCANO					
2) 6x2L		70 ✓			L24305
3) BONDIE ESPERANCE		50 ✓			
4) DRY Red 4x5L		40 ✓			L25072
5) CIA FINE CLADA					
6) 6x2L+ICE TRAY		140 ✓			L25065
7) Bug Shooter Red		63 ✓			L25076
8) SPARKLING wine					
9) Cuvée Brut 6x75ml		66 ✓			L25077
10) Kuv 15yrs old		2 ✓			L24920
11) Pearly Bay DCY					
12) white 4x5L		10 ✓			L24351
13) CATHEDRAL Cellar					
14) PINOTAGE 6x75ml		71 ✓			L23327
15) Ponchos Tequila					
16) Capernel		20 ✓			L24430
17) Kuv Classic					
18) CABERNET Sauvignon					
19) Shwar 8x2L		32 ✓			L24337
20) OTHER					
PALET CONTROL: GKN #1					
TOTAL					

NOTE: ON G.R.V. SHOW ONLY STOCK WHICH HAS PHYSICALLY BEEN RECEIVED

CHECKED ON RECEIPT BY: <u>NATHI</u>	DRIVER: <u>NKOSINATHI</u>
TIME COMPLETED: <u>12:06</u>	PAGE: <u>02</u>
	PAGE: <u>02</u>

Goods receipt date : 17.04.2025
Current date : 17.04.2025

Plant : LR4
Description : Liquor Runner Durban
Stor. loc. LR

Iss. Plant : 05
Name : KMW Wine Cellars & Distillery
PO : 4500561720
Pur. group : 112 KMW SA Distribution Telephone : 021-807 3301

LR	Barcode	Code	Description	Quantity
LR		0001	KMW 3YR BRANDY 12X750(S)3 LOC	550.000 BOX
LR		0002	CIAO PINA COLADA (1X2L + TRAY) BIB LOC	140.000 BOX
LR		0003	KMW SPARK CUVEE BRUT(6) 6X750 SLOC	66.000 BOX
LR		0004	PONCHOS TEO CARAMEL 6X750(2) LOC	20.000 BOX
LR		0005	PBAY DRY WHITE 4X3000 (2) BIB ALOC	10.000 BOX
LR		0006	CATH PINO 6X750 2022 SLOC	8.000 BOX
LR		0007	KMW 15YR BRANDY 6(1X750) NP LOC	2.000 BOX

Issued by: KRISHENDUTHS
S I G N A T U R E

Goods receipt date : 17.04.2025
Current date : 17.04.2025

Plant : LR4
Description : Liquor Runner Durban

Stor. loc. LR

Iss. Plant : LR13

Name : KMV Local distribution

PO : 4500561735

Pur. group : 112 KMV SA Distribution Telephone : 021-807 3301

0001 700025233 HOCH BLAST B/CURRANT 4(6X275) LOC



LR

468.000 BOX

WILD AFR CR 17% 12X750(S) 7 LOC



LR

165.000 BOX

HOCH BLAST B/CURRANT CAN 4(6X440) LOC



LR

270.000 BOX

BESP DRY RED 4X5000 BIB(4) ATOC



LR

50.000 BOX

KMV CLAS CABS 6X750 2024 LOC



LR

140.000 BOX

KMV CLAS MERT 6X750 2024 LOC



LR

140.000 BOX

ROOD 6X750 2023 NT LOC



LR

112.000 BOX

Issued by: KRISHENDUTHS

S I G N A T U R E

Goods receipt date : 17.04.2025
Current date : 17.04.2025

Plant : LR4
Description : Liqueur Runner Durban
Stor. Loc. LR

Iss. Plant : LR13

Name : KMW Local distribution

PO : 4500561735

Pur. group : 112 KMW SA Distribution

Telephone

: 021-807 3301

0008 700020875
LR

CIAO VODICANO 6X2000 (2) BIB LOC

70.000 BOX

0009 700025997
LR

KMW CLAS CABS/SHIR 8X2000 BIB 2024 LOC

32.000 BOX

0010 700026456
LR

WILD AFR CR 15% CHOC 12X750(S) 4 LOC

70.000 BOX

0011 700025956
LR

BUG STAG 10 (15X20ML) (S) 2 LOC

63.000 BOX

0012 700025945
LR

BUG RED SHOOTER 10 (15X20ML) 2 LOC

63.000 BOX

Issued by: KRISHENDUTHS

SIGNATURE